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CeAromuHCEKE 831 4 3,1 - — - 7C33B3ur1+A3+Ax6+Bag 60 080|1Ia| 25 28 330 1 CPB | 30
CaarommHucsKe 83161 26 o= | - - 10C3+Ans+A3+0c 85 1070l Ia| 30 44 500 1 CPB 30
Cearomuacexe 831 7 7,0 - - - 10C3+A3+bn+0Oc+B3m+Any 62 0,751 Ia| 26 30 470 1 CPB 25
CearomaHCHKe 831 8 24 — —— -— 5C32A4320cIAmy+Kar+I3+Kac 65 0,70 Ia| 25 38 300 1 CPB | 25
CeATOIHHCHKE 8191 12 - | - - 8C32A3+Bam+0Oc 59 10751 Ia| 24 32 330 1 CPB 30
CrarommHcbKe 8 10] 15 - | - - 8C3(95)2A3+C3(52) 95 1065 I | 29 50 370 1 CPB 20
CBATOIIHHCEKE 83 | 11 15 - - - 7C31A432Bra 61 080\ Ial 25 32 380 1 CPB 20
CrearontiHuchxe 81 12| 15 - - -- 10Cs 90 0701l 1] 29 42 430 1 CPB 20
Craromuacexe 83| 13] 02 - - - 10Cs 60 070 Ia| 24 32 390 1 CPB 15
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1 213 4 5 6 7 8 9 10 | 11] 12 13 14 15 16 17 18 19
CBATONIAHCEKE 88 110] 62 - | — - 10C3 160 1030 11| 29 58 200 1 CPB 40
CearoumHcexe 881 12| 19 — — ~— 10Cs3 160 055111 30 56 350 1 CPB 40
CBATONIHHCEKE 88 (13| 10 - | - - 10Cs 160 105511 30 56 350 1 CPB 40
CaaronmaHCEKE 891 1 19 - | - - 10C3(85)+C3(150) 8 107201 I 26 32 390 1 CPB 20
CasrommHCcbKE 59| 4 0,1 - - - 9C31B3mr+Kar 61 0751 1Ia| 24 30 350 1 CPB 20
CBaronIiHCHKE 89 | 5 5.3 - - - 10C3+Aqp 85 060 1] 27 36 360 1 CPB 35
CBATONUIHHCHKE 81 ¢ 13 - -- — 10C3+bn 81 05511 23 36 260 1 CPB 30
CBATOIUIHHCHKE 90 | 3 19 - — - 4Ans1B3m2Bp62A31Kar+Ax6 70 0451 1T 23 40 180 1 CPB 30
CBATOIUIHHCEKE 90 | 4 13 - | - — 7Kar2B3mlAx6+ba+Ans 49 10701 1a]| 22 34 210 1 CPB 30
CaaTouTHHCEKE 91111 250 - | - - 10Cs 170 o040 | 30 56 250 1 CPB 30
CraromHHCHKe 91 | 2 3,1 - - — 7A432Ym1C3+Kar+Oc+Amys 52 0701 I | 19 22 200 1 CPB 30
CBATOMIHHCEKE 91 1 3 0,2 -— —— - Ao 1KAr2Bp6 60 060 I | 22 28 230 1 CPB 30
CaromnHcExe 21 11 252 - - - 10C3+A3+bn 170 10351 I | 32 56 260 1 CPB 30
CBATOIIHHCHKE 921\ 5 0,2 - - - 10Aqp 47 1070l 1a| 22 26 230 1 CPB 30 S
CBATOIMHECHKE 21 g 18 - | - - 8C31A3160+Bra+Kar 62 10851 11 23 26 350 1 CPB 30 2
CBATOHIHHCEKE 931 5 3.4 - - = 5A33C32Ax6+0Oc+B3m+Kac 130 | 060 IT| 27 52 260 1 CPB 30
CaATOomHHCEKE 93 | 4 0,6 — - - 10A3 130 | 0,65 III| 25 44 260 1 CPB 30 g
CraToniaHChKe 94 | 4 8,1 - - - 9A3IKAr+C3+Aup+Axb 120 055 1T\ 26 48 220 1 CPB | 30 )
CaarommHCEKe 971 7 12 - | - — 45n4AmalKaclKar+Cs+1Tx 70 107201 1Ia| 26 30 250 1 CPB 30 $
CearomuHcexe 981 9 3,4 - - — 6Ans1C32bniAgap+bxa+Kar+As 63 0,75 I | 23 26 2580 1 CPB 30
CBATOIIHHCEKE 991 4 3.8 - — - 10C3+A3 &1 0751 I | 27 32 440 1 CPB 30 E
CBATOIIHHCHKE 991 g 5,5 -- - - 9C31A3+B3mr 61 080 Ia| 26 32 430 1 CPB 'y 30 3
CaarommHChKe 99 7 11 | - | - [ = 10C3 85 070 I | 28 | 36 450 1 CPB 4 25
CraromiHHChKe 9191 20 - | - - 10C3+bn+A3+0c 61 1080]|Ia| 25 30 420 1 CPB g 30
CraromaHcekxe 100 3 05 - - - 10C3+A4 81 0,70l Ia]| 29 32 440 1 CPB § 15 &
CBATOMIHHCHKE 100 4 21 -- - - 10C3+Auqp 81 080 Ia]| 28 32 480 1 CPB ) 30 3]
Currournacsxe W00 7] 62 | - [ - = 4bn3Ans2KkaclKar+Oc+Aup+Ca 62 10,70 Ia| 25 | 38 220 1 CPB E 10 8
CBATOMNIHHCEKE 100] & 0,5 - - = 10Mue+Kaa 66 081 I 23 22 310 1 CPB 0 10 %
CraromuHCcbKe 1001 91 07 - | - - 9C31Ax6 81 1080 | 1a| 28 36 450 1 CPB _ 15 .
CearomHHCbKE 100l 10| 05 - | - - 9C31Kaq 62 _1080|Ia| 25 28 370 1 CPB 15 %
CearomuHCcbKe 100 111 03 - - - 4Ka3C33 3+ Aae+Aap 45 10,701l 16 18 190 1 CPB 10 g,
CearomHHCEKE 100 12| 11 o - 10Baga+Kasg 7 1060 IT| 25 40 270 1 CPB 25 g
CearomHaHchKe 1011| 13 11 - - -- | 3bn3KacZAupiAnalKar+Oc+lnic+As 62 0,70\ Ia| 25 28 230 1 CPB 25 §
CBATOMHHECHhKE 101 14 13 - - - 10C3 71 0,751 Ial 27 34 460 1 CPB 30 o
CaaromuHChKe 101|151 06 -~ - - 6C34B3m 62 0,75 I 25 38 290 1 CPB 10 %
CBATONIHHCEKE 101 16 1.4 - - - 10C3+Aqap 81 0,70 25 36 380 1 CPB 25
CearoHIHHCEKE 1081 1 1.5 - - - 8A31C316m+Ana+Bau 120 1060 I 27 54 270 1 CPB 25 a
CBATONIHHCHKE 1081 2 13,0 - - — 10C3+A3 180 1035\ I | 31 60 250 1 CPB 25
CeATOMIHHCHKE 1081 3 0,5 - - - S5A3(65)1C32Aap2Kar+13+bn+A3 65 065|111 22 30 190 1 CPB 25
CBATOIIHHCBKE 1091 1 6,4 - | - - 10C3+A3+0Oc+b5o 62 _1085|1Ia| 24 26 460 1 CPB 25
CearomnHcb ke 1091 2 0,6 - | - - 6A33C31bn+Kar+Oc 20 1055\ IT| 21 30 170 1 CPB 25
CBATONIHHCEKE 109y 3| 13,8 — — - 6A31C320c1bo 70 0751 1| 23 26 290 1 CPB 25
CrarommHCBKeE 1091 4 0,7 - | - - 4A34Kar2Cpe+ba+Aap 61 0,70 1] 21 28 230 1 CPB 25
CraronIHEChKE 110 1 4,0 - - - 10C3+ba+Aqap 65 0,85| Ia| 25 26 440 1 CPB 25
CBATOIIHHCEHKE 110 | 2 0,8 - - - 4C33Ax62Kac1Kar 65 0851 1] 23 34 320 1 CPB 25
CBATOLIHHCBHKE 110 | 4 0,8 - | - - 3C33Kc3A4q9pl1T6+Ax61+M3+Kar 68 10851 1] 25 34 350 1 CPB 25
CearomHHCEKE 110 | 5 2,1 - - — 7C32A31B3ur+Kar+Ax6 61 085 Ia| 25 30 350 1 CPB 25
CBATOIIHHCHKE 1111 1 4,8 - - - 8C32A3+O0Oc+B3mr 61 0851 1a]| 25 30 430 1 CPB 25
Cearomaacexe 1121 1 23 - -— - 6Aam1C31Kar2bn+As+Mae+Aup 50 0801 1] 20 22 240 1 CPB 25
CBATOUINHCHKE, 115 1 0,2 - - - 6C34A3+Bsmr+Kaga 61 0,70l Ia]| 25 32 360 1 CPB 25
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1 213 4 5 6 7 g 1] 12 13 14 15 16 17 18 19
Cearommancexe 116 | 1 125 -— - - 10C3+Kaa+B3m+Axb Il 26 32 430 1 CPB_| 25 ¥
CeATOmIHHCEKE 116 ] 2 04 — - - 10Baq(85)+Bau(55) I} 24 34 320 1 CPB | § 25 o m M ] v
CeATOmmnHCHKE, 116 | ¢4 17 - | - 10C3+Ax6+bu+Oc Ia] 29 44 420 1 CPB | § m, 25 W.P ¢
Corrommucsxe | 116] 5| 04 | — [ = 11 26| 32 | 400 1 cpr| §% [z 13¢5, §
Cearommacexe 1766 | 08 | — [ - Ta| 24 | 30 320 1 CPB | < 25 §88<
Cosroumncexe___| 19| | 17 | — | — T 23| 26 | 360 1 CPB 30 34
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